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Before answering the questions, read carefully the instructions eiven on the

Note :
OMR sheet.
S | (BH)00 sErenen [EaeSH dwod, OMR YSS" aHBY SrSten e $EB08.
SECTION — A : MATHEMATICS (#e3¢ Fv’gm))
o AN
The sum of first “»" natural numbers is { g
‘da .\\d

S i’ S émpsa ok

X ) Ta=tn (@f Fn=nint)

= n(1—n) )2
o 3) E;;: 5 (4) En— n+l
@ How many two-digit numbers are divisible by 3 ?
3 3 erAoSA Botose Jopgen R ?
“§ (h 30 (2) 35 (3) 40 (4) 45

angle with the positive direction of x-axis 13

R —

3 The slope of the line which makes

v-0go8 s B3S® -3% S0 Sar B Tren Jod ?
(1)1 (2 0 31 4) 2

SPACE FOR ROUGH WORK / D& B8 Seronoswdd Yo

POLYCET.2022—C ] ! 4



- U HALL TICKEY 3 P\l skan = s

ﬁ I'he pair of equations x=0 and v=5 has
(2) Infinitely many solutions

(1) Unique solution
(4) No solution

X %) Two solutions
v=0 bak x=50d ShEdare wd SOA Aol A e3den
(2) wdodRDd e ehven EOA dodron

(1) JB8 Jesd $OA dotrow
(4) xnbotd esden SOA S0

(3) Both e SON dodran

5  The sum of roots of a quadratic equation 3x2 -7x+11=0 i

_ 37 - Tx11=0 85 sty Sk dree Hoghy

! 3
M 3 @ -5 4 3 @ -3

6 The roots of a quadratic equation x* -3x-10=0 are
. 22 —3x—10=0 38 $DEoewtn Gogy wreres

.. : 3@(1) —5; 2 . (2) 5. 2 %_'2, 5 (4/; = -5

ween the points (2, 3) and (4, 1) 1s
) Bochye ey drdi o8 ?

@ 3 @ 342 U@ 2z

first term is 4 and 9" term is 20 then 15th term is
Mdﬁmm4&0m9éwm2ﬂ oS 15 S HSH0 o ?
%) 32 (3) 18 (4) 36

f a quadratic equation ax® +bx+c=0, a#0 is

=0, a#0 5 sd8dmy Sk Hireb)
@ 2 3) 3 @ 4
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11

14

] ' ")’..
vear FUCATION & TrANNG, THLANGANA /f: ..rf;l.

“ o Ii dre th‘ roots i
. S of a Lluadlﬁlic & i 2
$ . -
qlldllnn ax”= + hx 4 c=() a# () then (!'.3 u “1 =

by +e=0, az0 5 s
A W Qs freren o, [} en wond, o2 +BZ &

| ( 2
g J-+2h‘)
(1) 33 ¢ ¢ 2! L(uz—?_bu)

2
)

S

| ( 2
 —(b% +2ac) L (12
(3) - o (4) —_E-(_h“—2uc)
The sum of 10 terms of AP. : 2, 7, 12, .......... is
2, 15 12 v ©o¥RABS™ 10 Hore Tdin Jod ?

(1) 340 (2f 345 (3) 240 (4) 245

If a quadratic equation 2x% + kx+3=0 have two equal roots then k=
1 +hkx+3=0 Heb B Gy Mreren HIrRwBS k =
) 1642 2) +243 (3) 246 4) +342

If the H.C.F. of any two numbers is equal to ‘1’ then those numbers are called as

() Coprime numbers (2) Prime numbers

(3) Irrational numbers (4) Rational numbers

Bodh dopge ey K2, 'l @owd, ¥ Bodd QODGOR e ®otrd.

(1) 5528 (e Dopgen (2) B dopgen
(3) soedas Somgen (4) wsssdon donger

The number 'Tt' is a

(1) Natural number (2) Rational number

4) Irrational number

(34 Integer

"T'0d0 e

(1) e sowg 2 w88eda0 Howg
(3) rg sowg (4) sdcdos dowg
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15 If 4={a.b.c.d} then number of subsets of 4 are

{={a.b.c. d} ®and, 4% Ko asdde Ddowg
(¥ 8 ) 12 (3) 16 (4) 20

16 The zero's of a quadratic polynomial 4y” +8y are
4_1-: +8) B amu0s QA& dramgen
(1) 0.4 (2) 0.2 (}{0,8 4) 0, -2

17 The base of common logarithm is
SoXBErTre [Frirsds eorso

(1) 2 @) 5 3) 10 # 1

"

18 J;*-JE is an irrational number, where p, g are
(1) Even numbers | (2) Prime numbers
i numbers (4) None

(2) B Somgen
(4) 28 s~

x + % y=7, 9x-10y =12, represents the following

(2) No solution
1y solutions M One solution

x—10y =12 Bar Sosture a8, (808 oD SrdosH.

2) 2% 86
(4) 98 e
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['he pair of equations 3 =
X+4y=k and 9x+12y =6 has inﬁni{ely many solutions if k =

v+ 4y =k DBaxn =
3x+4, IX+12y=6 shrssare as, ©J0SH MSden DA doad IS k =

1) 3 2 s
| i 3) 6 4) 5

The value of log|2501250 is
log}150 1250 B0 densd

.l” 0 ) 1 3) 2 @ 3

Which of the following is true ?
8od TS DO Nego ?

(1) $=0 (2) n(6)=0 @) ¢={0} @) n(0)=0

If the given lines 2x+ky =1 and 3x—5 y=7 are parallel, then the value of k is

2x+ky=1 8o 3x—5y=7 e Saross Bpen wowd, k dewd

(1) -7 (Z( LS (3) -13 @) -5

If in the equation x+3y =10, the value of y is ‘4’, then the value of x will be

x+3y =10 Ewmos’® y B Jevd ‘4’ wand, X dend

()2 o @) 2 | @) 4 @ 5

If the equation ax” —8x+4=0 has equal roots then a=

0 —8x 4 4= 0 Ersdemo Gty dreres SRS a’ Doud

(1) 2 o e f o
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£ dl it hl (‘i
26 I a By * 7+ then the lines are 3
F : . 2 (A
(1) Unique solution (2) Coincident (1
(3) Infinitely many solutions (4) No solutions
a by ¢ F
a “E¢: ®ond, & Bpen
1 2
(1) I8 > $0n dotraw (2) d8gsrow 2
(3) ©BoSHH JeHen KA dotran (4) ded B
(

27 If sum and product of zero's of a Quadratic polynomial are 1. 1 respectively, then “5'5

corresponding quadratic polynomial is 5 :
D0 D8 2
&8 B dd A&y Brarge Iwdgo Db Erarge w0 soare 1,1 @awd, & X o
; :
(1) x%—x+1 2) x2+x+1 (3) x2+x-2 n x —z+2

#

28 If sin(A—B)=% and cos(A+B)=% then £4,/B="7

sin(4-B)== 8ot cos(A+B)—% wond, LA, /B=2?

(1) 45°, 15° - (2) 15°, 45° (B 45°, 30° (4) 30°, 15°

adow of a vertical pole is /3 times its original length. The angle

' black balls and ‘6’ red balls. If one ball is drawn at random, H
-ttmg red ball is :

) ‘6’ Ny woden 50@ 2.8 22089 o.ﬁ'qﬁaﬁaéon“ BB ©8 iy

1
s 3) 5 ). =

"OR ROUGH WORK / 2 98 Seronossalis goms
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If mode = 29, mean = 32 then median =
araoesan = 29 d%en = 32 VoY, WEgRdo =
B (1) 295 (2) 30 (3) 30.5 @7

Find length of a kite string flying at 100 m above the ground with the elevation 60°.

o8 mOH0 drDwod 100 D, Jerth MHE® AohbDyd, @8 ¥ ety g8 60° Semiig

| -!—{B oy 200 25
E N i @) R @ 7 @ F

The median of 4, —6, -5, 3, 0, 5 and 11 is
4. -6.-5.3.0.5 28aw 11 © DESgrEo
(1) 4 (2) -6 3) 3 i

" Average of 11 numbers is 10.5; If one of the number 9 is deleted, then the average of
~ the remaining numbers is

 omge 60780 10.5. a8 Sowg 9 @ Benods, LADS Somge 300

= (1) 10.1 (2) 10.5 (3) 9.5 (4) 10.65

Identify the correct statement -

by ripes @ pE)=L - ) 0sP(BS1 (@) Nems

| (800 ae3S° KOG S -

(1) p(g)==1 (2) P(E)=1 (3) 0<P(E)<1  (4) 21 vd

When two dice are rolled the probability of getting same odd number on two dice is’

Both FDEend A& Bodd PWEL res e B dopg OO Hogrigd
1
5 o Q{ a —
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TR
' A Wwire.

: L e . aannected DY 8 ¥

Ihe tops of two poles are of height 20 m and 14 m art eo the wire 15

: . : . length of
wire makes an angle 30° with the horizontal, then the lengtl

/ 4y 10 m
() 11'm (2) 12 m ) 13m : ; urods w8 30°
20 8. daths 14 . Sy tfo ot sopme E90) wcbs SDe. © T S0
Sheodn DV, ¥ B°h BoEy Py Sod ?
4) 10 .

(1) 11 . 2) 12 b, (3) 13 .

The curved surface area of a cylinder is 264 m? and its volume is 924 m> then height
of the cylinder is I

(1) 3m (2) 8 m (3) 6 m (4) 4m
2 e @gy HES Brrogin 264 3.0, © e i Ko 924 .
&

(1) 3 %. 2) 8 . 3) 6 . - 4) 4D

If sin@=cosB (0<0<90°) then tan6=

sinB=cosB (0<08<90°) wawd, tanb=__ .
(=1 @) 4 (3) 2 “4) 1

If tan(A-B-)=—1—, cos-A=% then £ B=

-

- ‘&3‘)/ cosecol (4) seco
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Calculate the len .
gth of .

< eyl gth of tangent from a point 15 ¢m ¢ . : Pt

of radius 9 ¢m. 5 ¢cm away from the centre of a circle

(1) 11 em (2) 9 ¢cm 12 ¢m (4) 10
cm

\_ \..._‘ oy @“65’1\.\
N S (0 DYTed8, &°d Sot5in 08 15 0.5, Srdsnd® el Dot Sets. wond,
DoY) ano& T8 Aaw2d% )88 e SR B0 2

() 11 ol (2) 9 2o.b. (3) 12 20 (4) 10 20..

In the right angle . ’ —9Q° _3
¢ rig gle A ABC, £ B=90°, . tanC S5 then the Ilength of hypotenuse is

o8 oouSe (e o -
§ vowSe (Beheo A ABC.&° £ B=90°, tanC~—2 ©owd, @ (Behe S0 FEY Jo8?
2

(1) 16 @) 13 3) 21 & 17
If 4=45° B=60°, then sin 4 + cos B
4=45°. B=60° ®any, sin 4 + cos B 2end ood ?
2-2 2 2+42 2+2
¢ (2) +J_ S AT

]

Which vessel shown in the below figure can hold more water ?

R
ST e )
I em | 4 cm :
(1) A | (2) .
(3) same in A and B S ((A')/T]?Iot decided
Bots st O i, Mogd DesD 88 dvod (fech ?
o -
| 20.%. 4 200.2.
(1) A (2) B
L (4) dawosBin

(3) A &8axw Bé‘nﬁriﬁw i "

FOR ROUGH WQRK | Dd BB ﬁ@gnot:saa&a o)

142
Poth |

SPACE




I

STATE BOARD OF TECHNICAL Frv e smee- 5, Tn..«_ze

e -

46 If the radius of a sphere is '2r' then the volume will be

#ﬁma&uﬁaqéguﬂb”umﬁgwb@ﬁﬂﬁmﬁm

C 7.
3 ¢ 8 —=nr
(n %K’" @ 4anr’ (3) 3“"3 () 3

: X e - ratio 5 ;
47 The radii of two cylinders are in the ratio 2 : 3 and their heights are in the 3
then the ratio of their volumes are

Bodh Jrdre TgTe A8 2 1 3 Hdam 3¢ deber A 5+ 3 wand, 783 nd HOLrETTO DKDE
L J @ = o, )
)02 (2) 40:50 (3) 2030 (4) 50:30

48  The radius of the sphere is increased by 100% then the volume of the resultant spherel'.
is increased by ;
&8 Moo @y Fgargin 100% 20D, 28)ch Fefin By o H0darsn Jod EHD ?
7
() 200% (2) 700% (3) 500% (4) 900%

49  The centroid of a triangle is (4, 1) and two vertices are (2, 3) and (7, 6) then the third

vertex is
&8 (Bghes Hehee Bocsin (4, 1) HBaxw o»d Bodb Fgen (2, 3) 8o (7, 6) wans, Srds %gof: -

M 3G.6) @) (-3, 6) (3) (-3.-6) 4) (3.-6)

' ~AABC‘ then z+y=

Zt+y=

¢

9++3 3) 7538 ) 4+343

. ROUGH WORK / D H08 Seranosadd Hodn
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B |1 the below Dgure
: e UB=i13¢ :
: i Y OP < 12em and op | AB then the value of 4B is
(Bt SAKN) ety ¢ .
) My by, OP =12 Do, ©oog Op s
rpade 1 wond, AB dend

W P .

e
. -

(
v { %

§ o b
(1) 5 em(%0.80.) ,é) 100 em(%0.%,.) (3) 10 em(o.dy)  (4) 75 ecm(o.bv)

A circle touches the sides of a quadrilateral ABCD at points P, O, R and S then which
of the following is true 2

b b8 ABCD 56 yemd) P, O, R 9605 S Doy 53 o985, (808 06 50 u;%» ? b ffo>
Q { -3 "*ﬁ
i pr =

P U
- | Uy.ﬁ%t : X
D Aet™ @) 2 _
e
S “‘Q : ",\\5 et
qr‘f‘: A .
4 € AE~
/ B ; :
= XA
) . : \ XL
(f) AB+CD = AD+ BC (2) AB+CD>AD+BC . u/
: - 3
(3) AB+CD < AD+ BC (4) AB+BC=AD+DC W “./g_‘),l
- ;

The angle between the tangent and radius drawn through the point of contact is

88 9)6) Dotksigy ¢ rgrgeOB, )6 0w g o ooit0
(1) 1000 (;/)T 70° () P08 (4) 80°
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(1-,.;, &
ts Alx- 1) and B\*2- 73}

54 If the point P(x, y) divides the line segment joining the poin
internally in the ratio m, :m, then P(x,y)=
3&;)‘?;’5& s OS00mm

A(x. ;) ®o0% B(X;z.yz) Dodoiyed D6k By womd) «B

desosy Doy P(x, y) @wey dreven

+ iy ¥
e g ] (myxy+my¥) MYz 7271 |
o mXy +myXy  my,+myy; ) (myxy —myX) My ~7oX |

55 The mid-point of the line segment joining the points (2, 7) and (12. =7) i
2, 7) w0ats (12, =7) Bocsigest Dy Byrpodts ey, 65 Bodlp Hirdenes ?
(1) 7:0) ‘@ a0 0, -7) (4) (0.7)

56 A ABC £P=60°, £Q=75 then /A=
LP=60°, £Q=75 wowd, L A=
(3) 40° (4) 60°

(2) 12.83

(3) 14 . #Y2s

OR ROUGH WORK / 0% 598 Stmonoseds gom
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From the below figyre the value of -
X'=
(B0 D020 D08 'x' deyg

—_—

1) 2021 em (0.8,
“ ¥ 0.aD.) (2) 2022 cm (3.5 .
3) 2220 ¢ 0.aD. . |
(3) cm (20.2.) (4) 2020 cm (0.5 C Or
‘-P
\‘ a W
.-IA 5

In the below figure ARST - A RBA then the value of x i g ©

800 &80 ©08 ARST ~ A RBA eons, x Deus DA ¢
/ 4 ,
q/

(1) 12 (2) 24 (3) 10 ;n/ls

RP and RQ are the two tangents to the circle with centre “O” and £ POQ =110° then
LPRO=____
"0’ Sosiorr do Syerd8 RP Hoam RO e Bodk $)5 8w
L PRO= "8

P 2

.
(1) 700 @ 9% B

SPACE FOR ROUGH WORK / Dé 08 Beranosadd Jodw
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SECTION — B : PHYSICS (8% 330

. when the i-hlf ]

61 For a convex lens magnification of virtual image is possible onl
distance is
(1) equal to F
(3) less than F
$057°5°6 S8k 008 Jod Ersins® SHHL dodiP DRg BP0 &

(1) 250865088 588 drdin (2) sreigossin SoB D
(3) >aigos60 $oB sy (4) b=

(2) greater than F

(4) none of the above
<5580 Doddod )
Q@

62 FoE:al length of the eye lens changes with the help of
(1) Pupil (2) Aqueous humour

P (3) Ciliary muscle (4) Optical nerve
80636° K628 Taigodsin B SKotins SrthE0s.
(1) s (2) Y88 (850

(3) 20anbd osso (4) 8y =8

ric current and direction of electrons in a conductor are
- (2) Perpendicular to each other

(4) None of the above

63

_ D BF S8 ASor™ dodrawn. 69
(2) a8 8588 eomore
(4) 3D 59
/

. Refractive index of the lens
(4) None of the above

[TTa Tetee SEVR
(2) soos @E Y855 ey,
(4) 28 s2¢o

'ROUGH WORK / 2& 98 Seranosess ses,
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g5 Ihe defect by which some
- . ; : eople ¢ : -
objects is called People can not see near objects clearly but can see distant

(1) Myopia (2) Cataract

(3) Presbyopia (4) Hypermetropiz
S8 BEST BBy B " : 4% pon
L Foo® OGO ak) XoHen B Srddh 5 drson 43) oD Srdded. & SEE >

mer @oérd).

1) 10 &y 2
(1) 1&g Sya (2) %088 Hgren (3) Sergsin (4) &g oy
.'6 N A person is advised to use 5D lens. What is its focal length 7
' (1) 50 cm (2) 5 em (3) 2 cm § }41/30 cm
A’ P st_gng 5D éé.:sva; TEO) WPNOSEHS. ood Tergodin Jod ?
(1) 50 =0.. (2) 5 0., (3) 2 2ok (4) 20 20..

6’7 In an eye, muscular diaphragm between aqueous humour and the lens is called
(1) Iris (2) Pupil _(3) Retina (4) Cornea
L T 5088, ABEE (S8 ELS I8 D¢y 40B SodSED S T8 Bev> .

(1) %o g (2) so>d (3) veder (4) s=0)oxr

-3

Angle of vision of a healthy adult human is
SBrisHodd Sy e
(1) 10° (/2)/ 60° (3) 90° (4) 40°

In series connection of resistors, if one of the resistors breaks down. then
(1) circuit is open and no current flows in the circuit
P‘-)\/zurrent increases in other resistors e
(3) current remains the same in other resistors
current decreases in other resistors a little
ey BeS6® SO DB & I HNBaOEIB, oD D&
(1) soabo Bhsed, Soanos® AbgE gt enidod 69
) DADS At res® ngdgErdrin Whrb&od
) DAdS Ao’ DebgdgTraran ©08 &0énod
) DAY A rest Agdygaririn o Sh&od

SPACE FOR ROUGH WORK / 2& 508 Seronouadd o
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70 A bulb is marked 60 W and 240 V. Find the resistance in the bulb.
a8 wen) 60 W 5801 240 V 0 $805856. e )&°D) GG E Do ?
(400 (2) 180Q (3) 960 (4) 602

71 e Usage of fuse in a circuit prevents from
y’k’ (1)-Power cut (2) Overload (3) Short circuit (4) None of the above

&
T a8 500008 {58 810D sddrson.

(1) 2esogB % (2) 445 &6 (3) B wmpg8 (4) T =S

@ Ob_S.I,{UCIion to the motion of electrons in a conductor is called
(I)-Conductivity ~ 2) Resistance (3) Resistivity (4) None of the above
S‘P«L:'P;E;zbndis nbosvgése.n Bord8 £87 BALOS™Y)) VT WOLFD.

L () 23 eme  (4) 2Wakod 5
£

73 Which of the following i the equation for given circuit as per Kirchoff's loop law ?

88 5 erd Do [BseCEn By Hoaxed’ SEsmEy 96 2

=30

Ix12=1 (3) 31x12=0 (4) 31-12=0

g relation represents Ohm's law ?

Yo oo K008 ?

© V'x-;- Blar=1 4) P=VI

)R ROUGH WORK / D 28 Seranoswds RSN
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Sy |

In the circuit given bel i
OW, 1l the equivalent resie
g g o rL‘.SIStan o i "
(Bod adgdN voavost ce1s 10Q, find the value of
OO P08 AWKy Dend 10Q waws, R Dewis S/t e

4Q
1 120
=
| —
% b= O~
% )
1) 8§ L)
( @) 16Q o 6) 10 @ 30
SI unit of resistivity is
RN 28° 3w Ay S| (e
_} )| (2) Q-m (3) QO —m?2 (4) o}
. r--{ |
Multimeter can be used to measure
(1) current (2) voltage ' (3) resistance - (4) all of the above
2OEE D GHAFAON B Fod Hib Y. ;; ' )
(1) g (2) S84 — (3) s (4) 2Hased
The size of the image formed by a convex mirror is always
(1) Enlarged (2) Diminished
(3)Double size of the object (4) None
Goprsed B8 yEn DB (8o BOLPEED VP
= v
(1) 80 Bodd S (2) 26
(3) &P o Beo) ~ (4) b=

sl
reflecting Surface curved outward is
© (2) Concave mirror

(4) None

5 Framse (56 Ho HoPREH SO HEW 20%E BHHH G0t0d ?
(2) DHerseE S

(1) oersd G800
(3) ode SEead0 Py (4) b s 4

The spherical mirror whose
(1), Convex mirror
) Plane mirror

SPACE FOR ROUGH

—J i
WOSI( | Do %8 Beronotadd Hoin
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g
- —r used in solar cooker IS
) he fvne of Mrror used i soie :
S0 The tvpe ol (7} Comvex : J \\h
(1) L oncave

e
(3) Concave and convex (4) None 'g
o :‘_""g_'—.l_g g1 57 5 ok 4alrfow :C;f’;"m :
2 (2) HowrsE %‘
ST .’E
i\.
(3) Persd Do DHogrs~E (4) 26 = ﬁ
age in case of &
81 The minimum distance of an object from the pole to obtain real im %

concave Mirror is Lg
9ers6 85)mo MoBod® Je PBDceEN Iom)deos, DI, Syse Do Jo& X Ertod &
&ozed ? '&
(1) F (2) 2F (3) 0 4) F2

82 What is the focal length of a plano-convex lens if ‘R’ is the radius of curvature andg,

‘n’ is the refractive index ? a;
Hdo Lowms s sesin Angy Hge Tggin R’ Hoak 3805 ey N’ eans, a’a'igoédéui
Jod ? . .

R R n—1

l T = 2 C f N = [ = 4

(1) £f=R (2) 5 (3) a1 .(‘4) =5 5

83  The magnification of a concave lens is alwa
(1) equal to one  (2) less than one : greater than one (4) none of the above

@wydwﬁnm@uﬁmw
(1) eses8 somsin Q)wﬁéiéga () es8 0B 228 (4) I =g

case of a concave lens ?

(2) Inverted and virtual Image

(4) Inverted and real image
TS 26 @6 2

(2) Se8othen 8oLy Darg HBDoersn
(4) SoBosen DBaL Jes (288000

18

86

.- 87

- 90



AL 1 emmes .
2226102267 \

N

wiai ) 7H085 3

lens makep's 1
What 1s lens Illdl\u'h I“"'!llllu 9

Hood Board K)Q"',bgdmm D-ﬁ)ej y

I |
{ll l}(‘———_i. I
(1 RI R‘?

{ il i R, R,

(3) n+ | [T{__FT*J |
1 Ry @) T=(m+n(L__1
R, R,

[ the focal length of

a spherical mj ;
. i ; \
curvature ? Fror i1s 10 em, what s the value of radius of

(1) 10 em {(2) 20 ¢m (3) 30 cm (4) N
Alersed S8 Y0k &uuéa_ ogSgodsin 1() ¥ 4
! 0., wowd, YEer o M0
(1) 10 2o.d. (2) 20 0.b. (3) 302:0!):8 : '3(‘;‘5) ?:)b
: oD, 5

[I"a convex lens is placed j :
; v B placed in water, it's focal
(1) increases length

(2) decreases 3) d
: 0es not chan
Hoersed ELEHN Desest aoﬁmyd) ood grgOss ge (4) none of the above

(1) 0 (2) 8o (3) &rss (4) 23 =P
Which of the following is the formula for m

agnification in case of spherical mirror ?
Aegroged ddﬂ)mmé" emgba&mé&a Qe[ 6 ? 5

M @ =X @ Y @ U

Every lens has focal points.

(08 SLEKRHH Trghevodran.

(1) 2 Vﬁ 3) 6 4) 8

Parallel beam of light after passing through a convex lens pass through a point called
(1) Pole (2) Centre of curvature

(3) Focus (4) None of the above
Srodd 5708 ok H0arseE S8 Hoae (HorEods dhard D Dotk Hoar Y ?
(1) ¢ yam (2) Yo o
3) =9 4) P> ey
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SECTION — C : CHEMISTRY (B aHD B> y
91 The orbital with more penetration power towards nucleus i3
Sol¢sgsn By &5 )6 PG dprisng SILAT a9y wt b i 7 B
(1) 4d (2) 4f (3) 4p ) 45
e of the followig® ¢

92 The electronic configuration of an element is 2. % 6. Which on

element is chemically similar to the above element ” SPALE
| (3) Phosphorous (4) Chlorine

A1) Nitrogen (2) Oxygen
DoweS dergio 2. 8. 6 60N 0.8 fareso, (Bod allys D fretod sratdtorr FD G0EAT
(1) 3&°=5 (2) eBy=S (3) ;3»:;;)65 (4) ge2
93 4f elements are called as
(1) Transition elements (2) Alkaline earth metals
(3) Actinoids (4) Lanthanoids
4f sroseols D dore Sendrd ?
(1) 20868 wrosrer (2) 56 Doy88 S5
(3) o8 X (4) erogarands

R ) B g o0

gir of atomic numbers indicates the s-block e¢lements ?
ﬂ-g.g'& Lrosrein rdRron ?

3y 11,12 7.8

94

5 to 3" period and 14% group in Modern periodic table is
(3) Phosphorous (4) Sulphur

Dba 145 |Arss Bobibnsosd Hredin

2055 (3) >ays (4) %038

£ il

& . < - 0
0 1egative element among the following ?

(2) Carbon (3) Nitrogen Fluorine
28 DS 88 Mo Lrosin I8 ?
(2) 56)S (3) 3&%=5 (4) oS
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n

O =» € NaOH + D H, : .
H, . in this equation the values of A, B, C and D are

O ‘.r NAOH + D H, o8 shhssmtne® A, B, C s60s0 D Desten
: 2, = B- |
. “_: (2) A=2, B=2, C=2, D=1
. (4) A=2, B=1, C=2, D=|

alt in the following.
> vt siiealont t"'n')‘(n‘:‘()&
() Nk (2y NaOH (3) HCI (4) HCN

pound formed when excess CO, is passed through lime water
) e er gt w8 COLD Lol8pd D6y er i

O ) (2) (_.‘a(l()3 (3) ca0O }4/) Ca(HCO3)2

Moo Solution with pHl less than 7 is

(1) Sodim chloride solution (2) Sodium hydroxide solution
(1 Acetic acid solution (4) Slaked lime

pll ek 20 4&33'560 | $a930)

(1) dthano §D0b (rieio (2) #8000 BB (ordeidno

(1) AT asiy (G devioo (4) 88 dydo

¢

I cndothernmic reaction, heat is

(2) not changes (3) absorbed (4) all of the above

(11 relensed
ﬁijn"{r# o‘f;f’,gdj“ QW

(1) dotserioin (2) trto) BOGE (3) (Rrodudd® (4) a0

lo joules at STP. Heat liberated

One mole of Propane (C3H') on combustion given ‘x'ki_
kilo joules is

by the combustion of 11.2 litres of Propane at STP in

o e (8 (C4Hy ) STPiG B0 Brstrydo ‘x’'86* ra;;ngoa. STP & 11.2 beg @65 ®
irn Bttt Doy B 8 @6y b
(1) x @ % @y 112 x ) 2x
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103 Which one of the following metal occurs in the native form
(B0 are3&®, (98)BE* Gimes orr eggmdly o « Na
(1) Au @) Ca 3) Mg 7 °

I_'.I, 2 ‘;% wﬁ‘

104 The more reactive metal in the activity series is

‘ tinum
(1) Potassium (2) Iron (3) Zinc (4) Pla
SorgBod B3’ ©o8 Sorghed te o _
(1) Sertaso @) o (3) 208 (4) 5

metal 7 ]

105 Which of the following process is used for the purification of crude oth flotation
(1) Roasting (2) Poling (3) Calcination (4 P "
Bod 36" S8 ascrnod 58 96 2

(1) =550 (2) 00k (3) #yddemo (4) 55 @8a%

106 Which of the following is a non metal 2
(8 8 wé'iro 6 2
4 Pb ) Sn (3) K (4) S

107 Idennﬁr an acldlc ﬂux among the following.
sy (2) CaO ' (3) Mg (4) CaCO,

e following is

(3) Haematite (4) Camalite

(3) wugs @) soy28

(2) Manufacture of borax

(2) &'o°E) dar-bes®
(4) 2ot
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113

114

115

Aaximum number ot electrons present in ur bi

) _.1\;4(}' anhy ‘ﬁ,..‘.l, # aodd . 2 I Orbiial of aom 1y
S . 3 " _,JEM)H ﬁnéj {\x).)g
(1 & | (3) 10

(4)

Rases van BIvE IONS In water.
hases" g er WOXTHL Wby

| (2) O
NiNIng actd 1o water 18

wothermice reaction '
(¢ o (2) endothermic reaction
1) NCUrdise
(3) ne (4) none of the above
(1) aqArss Bog (2) agses vog
) ;
(3) e)e,xthfmﬁD (4) 33 sy

pour quantum numbers of valence electron of sodium

dano AEY DEHOD o)e)g'jn') Sy, Trentd B2 oo domgen
(1) 3.0.0, +1/2 2) 2, 1, 0, ~L32
() 3, 0, -1 % 1/2 4) 2, 0,40, =1/2

Colour of anhydrous ‘(Kl(a)z; is
(1) White lue (3) Greén (4) Yellow
wiedy CuSO, Goth M (S)
(1) Beny (2) o (3) U&Ja'n':')‘) (4) sl
Bleaching Powder is formed from |
(1) Slaked lime + HCI Slaked lime + Cly
(3) Quick lime + HCl (4) Quick lime + €O,
Hoh Frab xSwod D8 00. AR
(1) &8 )0 + HCI (2) 88 o+ Cl,
(4) 2 D)0+ CO,

(3) &8 oo+ HCI
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116 The total number of atomic orbitals in third shell of an atom
08 DORPES rdd $5S° dod @0 ere) Jomg

(1) 1 (3 2 3y 9 (4) 1%

117 Which one of the following electromagnetic radiation has more frequency |
() Cosmic rays (2) X-rays (3) U.V. rays (4) Radio Wavess
800 AgEaB08 WSFOS® & wbE o SOA Gotnob ?

(1) =8 8seren  (2) X-86wren (3) U.V. 86een (4) BaaAr &

118 Order of energy of orbitals
@b ere 48 (Shdw
(1) 3s>3p>3d>4s (2) 3s<3p<3d<4s
/(3/).‘ 3s>3p>4s>3d ‘ (4) 3s<3p<4s<3d

119 The classification of elements which is based on atomic number is

(1) Dobereiner's law of Triads (2) Newland's law of octaves
e o

(3) Modern periodic table }40/ Mandeleeff's periodic table

e Komg B WEHES Bireste HHEd D6 2

(1) g (2) drgeroBy o Jonvddmn
(4) 20ddS enss vesg

ronic configuration violating Hund's rule 2

2008 0§98 I A6 ?

@) fry] fref ]
2s 2p

@) 1] T
2s 2p
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SECTION = D : BIOLOGY (8%3°89i)

" :l\ e mode of nutrition in Paramoecium s
V(1) Ingestion /L)-'l"‘/i'l;mrptinn (3) Parasitic (4) Saprophytic
: phhanod” e ASorr e eéod.
B ) cossiee () e (3) sy o (4) pberco
-’,: wernal Tertilization is observed in
(1) Monkeys (2) Humans (3) Fish (4) All of the above

rirg S0B8G™O S° 208,

(1) Sdhen (2) drddHen (3) Sew (4) }_"’b;

I'he structural and functional unit of nervous system is

() Neuron (2) Nephron (3) Osteocytes (4) None of the above
G D0 BEy Qoee7ed) 8 wdakny (BaXrdy 8 [Bareo

(1) =8 &0 (2) 38 3) sdarse (1) =Y

4 serves as a shock-absorbing medium and protects the brain against
shocks/jerks along with the meninges and cranium

(1) Lymph (2) Cerebrospinal fluid

(3¥ Blood | (4) None of the above

Eredn, Dozd of® EOD DS @i’-grwe) Dod sParHod.

(1) &% (2)? 2y, DoHo
(3) 8o (‘4)|l T =Y
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125 are fat soluble vitamins.

THgs’ 664 Dado OD 7 l(,- Ja
J A
X 1yB&C (2) A&C (3) B&D )

1 » 1 By
126 Which part of the brain controls the emotions =

(1) Cerebrum (2) Diencephalon

“~ (3) Mid brain (?{Ccrcbcllum

DoG AwE) D o oo Jvodipod ?

(1) »po (2) argd Ago
(3) Dog v (4) vy o (ROBYD)
127 Total amount of urine excreted per day by humans is about Iitreg
: N Hesg () MO .
S 0) 12- 14 @) 1416 4) 1.6 - 1.8

(2) Glomerulus

(4) Renal tubule

(2) 68384 o8 wsyo

(4) 5y8% w08
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129 Identify the correct photosynthetic equation.

\ - Light
(1) 6CO, +Hy0 —mrter? CH,0 +H,0 +60,

N CO 9 Light AT
(2) CO3+3H0 —mermr CH;0+2H,04035

3) 6CO Laght = - o
(3) 2 +6H,0 Chiorophyll > C6H204 + 6H,0 +60,

6CO Light .
“) 2 +12H,0 —asoim™  C6Hi206 + 6H,0 + 60,

§6m &g SOArH (BANE™D KBS BELE) $B0S08.

1) 6CO,+H oo N
(1) 60, e S wous | CH 0 +H,0 + 605

8
(2) €O +2H,0 —gcotac— CH,0+2H,0+0,

508 A
5°08 o
. 130 The latex of lant is the source of biodiesel.
" (1) Sapota / Chicle (3) Hevea (4) Jatropa
) 886y Hob a@Ardas © s Ty,
(1) e (2) D86 (3) rdoxe (4) &'

- 131 The secondary function of lungs to carry out excretion is

(1) Removal of CO, and Water (2) Elimination of Sebum
ﬂ%:ea formation ‘ (4) Excretion of excess salts

&20Ben edorr B MYS BBk DEH
(1) CO, @daxy WD OO Do)e (2) Rwo @y oD

(3) axrboxe dosrd (4) ©ps ebare XS
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e

OS}'l'lthSiS are

pholochcmical phase of phot
(2) ADP and NADP
(4) NADP and NADPH

132 Assimilatory powers formed in the

(1) ADP and ATP
(3) AIP and NADPH

Scomsity SOOI ABOBS'D woB ERrati GHE® DE)B BVECS #EHBHNT

(1) ADP @boxw ATP (2) ADP 2800 NADP

(3) ATP @b6ay NADPH (4) NADP 8o NADPH

133 The organs which have different structure but perform similar functions are callg

(1) Homologous organs (2) Analogous organs

(3) Vestigial organs (4) None of the above

dor 008" B 408, eBEERDH HI) 00T edADTOW ©0tr .
(1) oy rivg edanzren (2) |Batrrig edadaren
(3) esErdovaren 4) 33 =P

134 A cross between a round, green seeded pea-plant (RRyy) and a wrinkled yellow se
}791““' (lfl‘YY),the seeds produced in F, generation are

ilid Ybllow (2) Wrinkled and Green
'_'*' & (4) Round and Green

e Ao werd WD (RRY) sndoden Hoaxs 503
1800 Qo e o W om Yo,
(2) Swdser HBat wHvSy

(4) Hoesd HBaK) SESEN

3)

m closely related groups of organisms is re .,,,‘

mtions () (1) and (2) (4) None of the
Md@g WS Ko oforod® aod Porod S0F ;.
2) Brges G) D moamw 2) (1) 0wy
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' L UICATION & DIRAININGG 3 sty .
N 1ATE BOARD OF TrorNicAar B \.:..II!{}

e - POLYCET - 2022
Facl 3 :
wh human body eel) contains S b st
(1) 20 Pairs R N , 4
(2) 23 Pairs (3) 22 Pairs (4) 24 Pairs

[0 S0 2D A ;
WO W) wde wboy (E*Ard%hveny (wdtdbhnen) dodron 7

(1) 20 as
Sen (2) 23 ween (3) 22 mden (4) 24 wéex
In F5 generaty " G : : : :
> seneration, the genotypic ratio of monohybrid cross is

l_' Ao D8 080 gjmgd}‘x) %3
) 9333 " o iy
1) DI /(2] 34 £3) 3r%s) (4) 3:1:3:9

—_ protects the heart from shocks.

Dt e mil s
(1) Pericardial membranes (2) Pericardial fluid
(¥ Auricles (4) Ventricles

OB BRrETY HHod srar e ob.
(1) :Q}‘e)CSQJ.‘J‘g)CSm 6Si:}‘en (2) ﬁgdoﬁ‘éﬁm (&S50

(3) s8sen (4) es8BEen

Blood capillaries were discovered by in 1661.

(1) Marcello Malphigi (2) William Harvey
(3) Girolamo Fabrici (4) Rene Laennec
1661 & 6§ SdDsOD ST,
(1) arBys® srO)a (2) Daso ey

(4) B0 BS

(3) pelemr P

is a vital link between blood and tissues by which essential substances pass
from blood to cells and gxcretory products from cg_all_s to bllood.
Heart (3) Arteries.  (4) Veins

(1) Lymph
880 wod FastOD Es:m,:) Seroh ©oBoUE0, Swrenod H)® dergro %8600, 8806°d8

ot B G5 S & 808 HErEd v°go ots ?

Do erotl 7oy
(2) Kod (3) cvmer (4) e

(1) 88850
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L4 " food.
141 In trees, removal of prevents transportation of 1o
(3) Xylem vessels

(4) None of the ahg

(1) Phloem (2) Xylem
BLS® D FoRodi s BE STe e BoswdS00 ? call
(1) 9% $weroo  (2) oo (3) woH T (4) BRTY }/l
142 controls the movement of food and air owards their n.‘-p;ﬂ‘% passages, t:
(1) Epiglottis (2) Pharynx (3) Nasal cavity % Trachea
o) b0k I EH & drgred® ERB0NHE Daxo(@pod- ¢
(1) aoargs (2) @D (3) ¥ HHFSO (4) soTwo
148
143 Muscular tissue present at the floor of the chest cavity 18 I
(1) Bronchi (2) Diaphragm (3) Trachea (4) Alveoli 1
&8558 BrbD 2rtioS® dod HosSaSH FPE ©o&.
(1) mgdrvren (2) a8 Do (3) ®goeess (4) srosofTEven
144 In the absence of oxygen, glucose is converted to ethanol in :
(1) Plants (2) Animals (3) Yeast (4) Lactobacillus
95‘335 uejsoq-a Hgos® 'Qrs‘i adarss m ' &° HrdHeod. 149
(1} 31353.@ 3 I, (2) eosHHen (3) & (4) w%"ar?ogéﬁ
n, energy is stored in cell organelle.
2) Mitochondria  (3) Nucleus (4) None of the above
Ho&® 48 & ¥eroriod® dog@ah 2 E0B.
50

g0 the vegetative reproduction through roots

nd Ginger ' (2) urraya, Guava and Millingtonia
1 and Scilla None of the above

v’ __ses;)a ad:@é:‘zﬁ ol doirdne

(2) dwoarr, erdy oo wdoh &*dase

(4) =Y
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148

149

150

I'he Nuids secre
cted f
rom seminal vesicles, prostate gland and Cowper's gland collectively

Ui I”kd ‘\Ll'lllndl | W
plasm .
ma. th seminal P]ilhlnd dl(“}g ith sperm is Ld“(-d

(1) Plasma .
(2) Semen (3) Placenta (4) None of the above
HEITEen de
R 28 B (60, ey (o aren, 895 (o ([rarein 800 WS rar) wotrd,
P2 DAy DS Sorerdy 5O @otrd.
(1) arde
i (2) B S (3) aron (4) 330 Y

JAL

I'he phrase Omni - 2ol
p nnis cellula e cellula, or cells arise from pre-existing cells was
proposed by

(1) Mendel (2) Virchow /(ZdJamarck (4) None of the above

e ©O8H M0HY) Ewreod ad b bHEron ()S Pengd @ eng®) & Leroerd)
PAFHoTH ?

(1) Dodsd (2) 2%y5 (3) erirby (4) =W =Y

drotropism  (3) Phototropism  (4) None of the above

Growth of a Plant in respopse to a light stimulus is known as
(1) Geotropism y”ﬁf{

Emézren sc0H8 e Sreon &ao&ome&&) @otrd) ?

(1) thdergidso (2) D8 eRgHo (3) 508 a::o:ugpo' (4) =Y

Transfer of pollen grains from anther to stigma of thé same flower is called
(2) Self Pollmatlon

(1) Cross pollination

(3) Hydrophily Anemophnly

oets, B0 208 SO BV o ipio EwEy bRy e o
(2) wé) ::c'd &oa’:d?ro

(1) &6 domts oGO a e wdlwo '_

(3) ae Horl Mo. : Ty -




